
CHEMISTRY

BOOKS - ACCURATE PUBLICATION

MODEL TEST PAPER-1

Section A Mcq

1. The molality of pure water is

A. 55.5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2HazC40iYZ5s


B. 20

C. 18

D. 10

Answer:

Watch Video Solution

2. If limiting molar conductivity of  and 

 are 119.0 and 76.3 S , then the

value of limiting molar conductivity of 

will be :

Ca2 +

Cl− cm2mol− 1

CaCl2

https://dl.doubtnut.com/l/_2HazC40iYZ5s
https://dl.doubtnut.com/l/_sDf0KkOZ0QDZ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

195.3Scm2mol− 1

271.6Scm2mol− 1

43.3Scm2mol− 1

314.3Scm2mol− 1

3. When the solute is present in trace

quantities, the following expression is used

https://dl.doubtnut.com/l/_sDf0KkOZ0QDZ
https://dl.doubtnut.com/l/_12eMSAZ75jYU


A. Gram per million

B. milligram percent

C. microgram percent

D. parts per million

Answer:

Watch Video Solution

4. Low concentration of oxygen in the blood

and tissues of people living. At high altitude is

due to:

https://dl.doubtnut.com/l/_12eMSAZ75jYU
https://dl.doubtnut.com/l/_abBSHAxeo9jS


A. Low temperature

B. Low atmospheric Pressure

C. high atmospheric pressure

D. both low atmospheric pressure and high

atmospheric pressure

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_abBSHAxeo9jS


5. Considering the formation, breaking and

strength of hydrogen bond, Predict which of

the following mixtures will show a positive

deviation from Raoult's law ?

A. Methanol and acetone

B. Chloroform and acetone

C. Nitric acid and water

D. Phenol and aniline

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RXxmgLqCyKDq


Watch Video Solution

6. Which of the following Noble gases is

radioactive:

A. Xenon

B. Argon

C. Neon

D. Radon

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RXxmgLqCyKDq
https://dl.doubtnut.com/l/_m5Gf3Dg9Gvls


7. Anomalous electronic configuration in the

3d series are of

A. Cr and Fe

B. Cu and Zn

C. Fe and Cu

D. Cr and Cu

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_m5Gf3Dg9Gvls
https://dl.doubtnut.com/l/_wheBKvJXma1Z


8. In Werner's coordinatfon theory, He isolated

................... compounds :

A. cobalt

B. copper

C. silver

D. zinc

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_h3CHaWvTwOIt
https://dl.doubtnut.com/l/_XlVg7iOk5Lc2


9. Primary valency expresses ?

A. co-ordination number

B. oxidation state

C. counter ions

D. geometry

Answer:

Watch Video Solution

10. The central oxygen atom in ether is :

https://dl.doubtnut.com/l/_XlVg7iOk5Lc2
https://dl.doubtnut.com/l/_Zr576HydztBU


A. -hybridized

B.  -hybridized

C.  -hybridized

D.  - hybridized

Answer:

Watch Video Solution

sp

sp2

sp3

sp3d2

11. Reduction of > C = O to  can be carried

out with :

CH2

https://dl.doubtnut.com/l/_Zr576HydztBU
https://dl.doubtnut.com/l/_nJ0i4DvI2Nrz


A. Catalytic reduction

B. Na/

C. 

D. 

Answer:

Watch Video Solution

C2H5OH

NH2NH)2/KOH

LiAIH4

12. During reduction of carbonyl compound by

 and KOH the first intermediate is :H2NNH2

https://dl.doubtnut.com/l/_nJ0i4DvI2Nrz
https://dl.doubtnut.com/l/_TPSgrnb6aUfv


A. RC=N

B. 

C. RCH=NH

D. 

Answer:

Watch Video Solution

RCH = NNH2

RCONH2

13. Cross aldol condensation occurs between

A. Two same aldehydes

https://dl.doubtnut.com/l/_TPSgrnb6aUfv
https://dl.doubtnut.com/l/_oYXAXh5zoWB5


B. Two same ketones

C. Two different aldehydes and ketones

D. None of these

Answer:

Watch Video Solution

14. Vinegar is solution of acetic acid which is :

A. 15 -20 %

B. 20-25%

https://dl.doubtnut.com/l/_oYXAXh5zoWB5
https://dl.doubtnut.com/l/_UO6c8ZtZWlB2


C. 6-8 %

D. 2-4%

Answer:

Watch Video Solution

15. Translate the following statements into

chemical equation and balance the equations :

phosphorous burns in oxygen to give

phosphorous pentaoxide.

Watch Video Solution

https://dl.doubtnut.com/l/_UO6c8ZtZWlB2
https://dl.doubtnut.com/l/_pPJ3BFkIpU4f


16. Which of the following reactions will not

give a primary amine?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3CONH2 + Br2 + KOH →

CH3CN + LiAIH4 →

CH3NC + LiAIH4 →

CH3CONH2 + LiAIH4 →

https://dl.doubtnut.com/l/_pPJ3BFkIpU4f
https://dl.doubtnut.com/l/_jobrPMVHSWx4


17. Hoffmann bromamide degradation reaction

is shown by ................... .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ArNH2

ArCONH2

ArNO2

ArCH2NH2

https://dl.doubtnut.com/l/_oh3i9QYCqTS2
https://dl.doubtnut.com/l/_bGNvUelyrTUA


18. Translate the following statements into

chemical equation and balance the equations :

aluminium metal replaces iron from ferric

oxide (Fe2O3) giving aluminium oxide and

iron.

Watch Video Solution

19. The density of 2.05 M acetic acid in water is

`1.02 g/ml . Calculate the molality of solution.

A. 3.29

https://dl.doubtnut.com/l/_bGNvUelyrTUA
https://dl.doubtnut.com/l/_mpCtQG1lfmYe


B. 0.229

C. 22.9

D. 2.29

Answer:

Watch Video Solution

20. What mass (in grams) of nickel could be

electroplated from a solution of nickel (II)

chloride by a current of 0.25 amperes flowing

for 10 hours ?

https://dl.doubtnut.com/l/_mpCtQG1lfmYe
https://dl.doubtnut.com/l/_oLJM9z0thEUS


A. 12 g

B. 5.5 g

C. 0.046 g

D. 2.7 g

Answer:

Watch Video Solution

21. Molal clevation constant is also called as

A. Cryoscopic Constant

https://dl.doubtnut.com/l/_oLJM9z0thEUS
https://dl.doubtnut.com/l/_4nOrOlHLb7RJ


B. gas constant

C. Ebullioscopic constant

D. freezing point depression constant

Answer:

Watch Video Solution

22. Which of the following mixture does not

show positive deviation from the Raoult,s Law?

A. Benzene+ acetone

https://dl.doubtnut.com/l/_4nOrOlHLb7RJ
https://dl.doubtnut.com/l/_WODGU1jCJvdC


B. Acetone+ ethanol

C. Acetone+ chloroform

D. Water+ ethanol

Answer:

Watch Video Solution

23. Write complete balanced equation for the

following reaction : ammonia + copper oxide

→ copper + nitrogen + water

Watch Video Solution

https://dl.doubtnut.com/l/_WODGU1jCJvdC
https://dl.doubtnut.com/l/_Tv97pxFeGCv7


24. Write complete balanced equation for the

following reaction : aluminium sulphate +

sodium hydroxide → aluminium hydroxide +

sodium sulphate

Watch Video Solution

25. Write complete balanced equation for the

following reaction : nitric acid + calcium

hydroxide → calcium nitrate + water

https://dl.doubtnut.com/l/_Tv97pxFeGCv7
https://dl.doubtnut.com/l/_l4yRHKpodmLA
https://dl.doubtnut.com/l/_M3SPs4uDt9P1


Watch Video Solution

26. Which of the following is strongest base ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C6H5 − CH2 − NH2

C6H5 − NH2

m − NO2 − C6H5 − NH2

p − NO2 − C6H5 − NH2

https://dl.doubtnut.com/l/_M3SPs4uDt9P1
https://dl.doubtnut.com/l/_yXIdaflUIy8t


27. The property which is not characteristic of

transition metals is

A. variable oxidation states

B. tendency to form complexes

C. formation of coloured compounds

D. natural radioactivity.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JhwfqjzVVRCW
https://dl.doubtnut.com/l/_PWjwZwZw65rT


28. Pick out the correct statement with respect

to 

A. It is  hybridised, tetrahedral

B. It is  hybridised, octahedral

C. It is  hybridised, square planar

D. It is  hybridised octahedral

Answer:

Watch Video Solution

[Cr(NH3)6]
3 +

sp2d2

d2sp3

dsp2

sp3d2

https://dl.doubtnut.com/l/_PWjwZwZw65rT


29. Correct and balance the following equation

: Ca + H2O → CaOH + H

Watch Video Solution

30. Correct and balance the following

equation : N + H → NH3

Watch Video Solution

https://dl.doubtnut.com/l/_jap1eiSF0ln4
https://dl.doubtnut.com/l/_vpeWbKXYk6NE


31. Write balanced equation from following

equation : lime water reacts with carbon

dioxide gas to produce calcium carbonate and

water

Watch Video Solution

32. Write balanced equation from following

equation : aluminium burns in chlorine to give

aluminium chloride

Watch Video Solution

https://dl.doubtnut.com/l/_JaQLTLhckGSt
https://dl.doubtnut.com/l/_quHPxLtqvg3M


33. Which of the following gives aldol

condensation reaction?

A. Formaldehyde

B. Acetaldehyde

C. Dimethyl ketone

D. Propionaldehyde

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_quHPxLtqvg3M
https://dl.doubtnut.com/l/_hpO5FrxiSFSn
https://dl.doubtnut.com/l/_meQbgHqkZ7WI


34. Balance the following equation : MnO2 +

HCl → MnCl2 + Cl2 + H2O

Watch Video Solution

35. In nucleic, acids, the sequence is

A. phosphate - base - sugar

B. sugar- base-phosphate

C. base- sugar - phosphate

D. base- phosphate - sugar

https://dl.doubtnut.com/l/_meQbgHqkZ7WI
https://dl.doubtnut.com/l/_DhhslyLIL6ES


Answer:

Watch Video Solution

36. The segment of DNA which acts as the

instrumental manual for the synthesis of the

protein is:

A. ribose

B. ribose

C. nucleoside

D. nucleotide

https://dl.doubtnut.com/l/_DhhslyLIL6ES
https://dl.doubtnut.com/l/_ci6vCUmK9taa


Section A Passage

Answer:

Watch Video Solution

1. Thomas Graham in 1861, during his work on

diffusion found that certain substances such

as gelatin, albumin, glue, etc. Diffused at very

low rate and were called colloids. The colloid

particles have the size in the range of 1 to 100

nm consisting of dispersed phase and

https://dl.doubtnut.com/l/_ci6vCUmK9taa
https://dl.doubtnut.com/l/_xEcBb9PidZbo


dispersion medium. The dispersed phase or

dispersion medium may be solid, liquid or

even a gas. Depending upon the nature of

dispersion medium or dispersed phase, 8

types of systems are possible except for a gas

dispersed in another gas because the gases

are completely miscible with each other. The

substances which have strong interaction with

the dispersion medium are called lyophilic

colloids while those which do not pass into

collpidal state readily are called lyophobic

colloids. Lyophobic sols are much less stable

https://dl.doubtnut.com/l/_xEcBb9PidZbo


and are irreversible . 

What is the size of colloidal particles?

Watch Video Solution

2. Read the given passage and answers

following questions : 

Thomas Graham in 1861, during his work on

diffusion found that certain substances such

as gelatin, albumin, glue,etc. Diffused at very

low rate and were called colloids. The colloid

particles have the size in the range of 1 to

https://dl.doubtnut.com/l/_xEcBb9PidZbo
https://dl.doubtnut.com/l/_hkEwXht2Nx6W


100nm consisting of dispersed phase and

dispersion medium. The dispersed phase or

dispersion medium may be solid, liquid or

even a gas. Depending upon the nature of

dispersion medium or dispersed phase, 8

types of systems are possible except for a gas

dispersed in another gas because the gases

are completely miscible with each other. The

substances which have strong interaction with

the dispersion medium are called lyophilic

colloids while those which do not pass into

colloidal state readily are called lyophobic

colloids. Lyophobic sols are much less stable

https://dl.doubtnut.com/l/_hkEwXht2Nx6W


and are irreversible. 

Answer the following questions : 

How many types systems are possible

depending upon the nature of dispersion

medium?

Watch Video Solution

3. Translate the following statements into

chemical equation and balance the equations :

barium chloride reacts with zinc sulphate to

give zinc chloride and barium sulphate.

https://dl.doubtnut.com/l/_hkEwXht2Nx6W
https://dl.doubtnut.com/l/_Dl5xeIe6cHgV


Watch Video Solution

4. Balance the equations :
Na + O2
→
Na2O

Watch Video Solution

5. Thomas Graham in 1861, during his work on

diffusion found that certain substances such

as gelatin, albumin, glue, etc. Diffused at very

low rate and were called colloids. The colloid

particles have the size in the range of 1 to 100

nm consisting of dispersed phase and

https://dl.doubtnut.com/l/_Dl5xeIe6cHgV
https://dl.doubtnut.com/l/_SYFoo7XVYzqm
https://dl.doubtnut.com/l/_A8fCCFBbPnqL


dispersion medium. The dispersed phase or

dispersion medium may be solid, liquid or

even a gas. Depending upon the nature of

dispersion medium or dispersed phase, 8

types of systems are possible except for a gas

dispersed in another gas because the gases

are completely miscible with each other. The

substances which have strong interaction with

the dispersion medium are called lyophilic

colloids while those which do not pass into

collpidal state readily are called lyophobic

colloids. Lyophobic sols are much less stable

https://dl.doubtnut.com/l/_A8fCCFBbPnqL


and are irreversible . 

Which type of colloids are more stable ?

Watch Video Solution

6. Adsorption is surface phenomenon, while

absorption concerns with the whole mass of

the absorbent. 

In adsorption, the substance is only retained

on the surface and does not go into the bulk

or interior of the solid or liquid. Absorption

implies that substance is uniformly distributed

https://dl.doubtnut.com/l/_A8fCCFBbPnqL
https://dl.doubtnut.com/l/_54xtO0ZTlk9K


throughout the body of the solid or liquid. 

In adsorption, the concentration of the

adsorbed molecules is always greater in the

immediate vicinity of the surface tlian in the

free phase. Absorption involves bulk

penetration of the molecules into the

structure of the solid or liquid by some

process of diffusion. 

Adsorption is a rapid process and equilibrium

is attained in a short time. In absorption the

equilibrium takes place slowly. 

Such substance is said to be sorbed and the

https://dl.doubtnut.com/l/_54xtO0ZTlk9K


phenomenon is known as sorption. 

What is phenomenon of adsorption.

Watch Video Solution

7. Balance the chemical equation :
 MgCO3 +

HCl → MgCl2 + CO2 + H2O

Watch Video Solution

8. Balance the chemical equation : Mg + CO2

→ MgO + C

https://dl.doubtnut.com/l/_54xtO0ZTlk9K
https://dl.doubtnut.com/l/_dnILcri1NP0a
https://dl.doubtnut.com/l/_m2k5OawRabcR


Watch Video Solution

9. Adsorption is surface phenomenon, while

absorption concerns with the whole mass of

the absorbent. 

In adsorption, the substance is only retained

on the surface and does not go into the bulk

or interior of the solid or liquid. Absorption

implies that substance is uniformly distributed

throughout the body of the solid or liquid. 

In adsorption, the concentration of the

adsorbed molecules is always greater in the

https://dl.doubtnut.com/l/_m2k5OawRabcR
https://dl.doubtnut.com/l/_iZqhJuqJoPS5


immediate vicinity of the surface tlian in the

free phase. Absorption involves bulk

penetration of the molecules into the

structure of the solid or liquid by some

process of diffusion. 

Adsorption is a rapid process and equilibrium

is attained in a short time. In absorption the

equilibrium takes place slowly. 

Such substance is said to be sorbed and the

phenomenon is known as sorption. 

What is the phenomenon of absorption ?

Watch Video Solution

https://dl.doubtnut.com/l/_iZqhJuqJoPS5


10. Adsorption is surface phenomenon, while

absorption concerns with the whole mass of

the absorbent. 

In adsorption, the substance is only retained

on the surface and does not go into the bulk

or interior of the solid or liquid. Absorption

implies that substance is uniformly distributed

throughout the body of the solid or liquid. 

In adsorption, the concentration of the

adsorbed molecules is always greater in the

immediate vicinity of the surface tlian in the

free phase. Absorption involves bulk

https://dl.doubtnut.com/l/_kMvpofc3oQUD


Section A True False

penetration of the molecules into the

structure of the solid or liquid by some

process of diffusion. 

Adsorption is a rapid process and equilibrium

is attained in a short time. In absorption the

equilibrium takes place slowly. 

Such substance is said to be sorbed and the

phenomenon is known as sorption. 

How does equilibrium affects by adsorption ?

Watch Video Solution

https://dl.doubtnut.com/l/_kMvpofc3oQUD


1. Secondary amines don't evolve  with

nitrous acid. Explain

Watch Video Solution

N2

2. Aldehydes are easily oxidised than ketones.

Watch Video Solution

3. Why formaldehyde is more reactive than

Acetone ?

https://dl.doubtnut.com/l/_GTCMn43oxNpM
https://dl.doubtnut.com/l/_ZvVMaYuO5jXY
https://dl.doubtnut.com/l/_G00wYPaitCS7


Watch Video Solution

4. Why Phenols are more acidic than Alcohol ?

Watch Video Solution

5. True or False :Vitamin K is also called as

ascorbic acid.

Watch Video Solution

https://dl.doubtnut.com/l/_G00wYPaitCS7
https://dl.doubtnut.com/l/_JzAxTgffQlKP
https://dl.doubtnut.com/l/_hw2uTpnIMJT1


6. Acetanilide is less basic than aniline.

Watch Video Solution

7. Boiling point of iodobenzene is more than

that of bromobenzene.

Watch Video Solution

8. Boiling point of iodobenzene is more than

that of bromobenzene.

https://dl.doubtnut.com/l/_hsgRJlbwUXzn
https://dl.doubtnut.com/l/_Ya1HVC68bh1E
https://dl.doubtnut.com/l/_pUgHgOEgJzMp


Section B Short Answer

Watch Video Solution

9. Phenetol reacts with HI at 373 K to give

ethanol and iodobenzene.

Watch Video Solution

10. Uracil occurs in DNA and not in RNA.

Watch Video Solution

https://dl.doubtnut.com/l/_pUgHgOEgJzMp
https://dl.doubtnut.com/l/_dtR2KbXWXHZE
https://dl.doubtnut.com/l/_bJc92eZe7Q9y


1. Why transition metal have tendency to form

many complexes ?

Watch Video Solution

2. Write the general electronic configuration

of transition elements.

Watch Video Solution

https://dl.doubtnut.com/l/_k5NQrPs2iobf
https://dl.doubtnut.com/l/_gkb8eQ8RuF2Z


3. Explain hydrate isomerism with the help of

an example.

Watch Video Solution

4. Explain 

Functional group isomerism

Watch Video Solution

https://dl.doubtnut.com/l/_MzNBprYeZDYd
https://dl.doubtnut.com/l/_WXNRDvAYyZ9d


5. Balance the equations Mg(OH)2 + HCl →

MgCl2 + H2O

Watch Video Solution

6. Write the IUPAC name of .

Watch Video Solution

K3[Cr(C2O4)3]

7. Balance the equations H2O2 → H2O + O2

Watch Video Solution

https://dl.doubtnut.com/l/_GQG0jT38qBsu
https://dl.doubtnut.com/l/_TH5u6R2UbUG2
https://dl.doubtnut.com/l/_g4RmbiZJMGey


8. Why  exists, but  does not exist ?

Watch Video Solution

ClF3 FCl3

9. What is the difference between nucleoside

and nucleotide ?

Watch Video Solution

https://dl.doubtnut.com/l/_g4RmbiZJMGey
https://dl.doubtnut.com/l/_Pesk7puvwPgH
https://dl.doubtnut.com/l/_2gj3s4Ez6IP9


10. 4L of 0.02 M aqueous solution of NaCI was

diluted by adding one litre of water. The

molality of the resultant solution is ________

Watch Video Solution

11. 18 g of glucose is dissolved in 1 kg of water.

At what temperature will the solution boil ? (

 for water is 0.52 K kg )

Watch Video Solution

Kb mol − 1

https://dl.doubtnut.com/l/_KM5lsTPtTdbg
https://dl.doubtnut.com/l/_aknZ7X48usvF
https://dl.doubtnut.com/l/_8JW2nYCIBNlU


12. What is the time required for a first order

reaction to be 99 % complete, compared to

the time taken for the reaction to be 90 %

complete ?

Watch Video Solution

13. For a reaction having rate law expression

Rate= . If the concentration of

both A and B becomes four times, the rate of

reaction:

k[A]3 / 2[B] − 1 / 2

https://dl.doubtnut.com/l/_8JW2nYCIBNlU
https://dl.doubtnut.com/l/_2fe6HVxDokdj


A. becomes 4 times

B. becomes 16 times

C. decreases 4 times

D. remains same

Answer:

Watch Video Solution

14. Give one example of zero order reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_2fe6HVxDokdj
https://dl.doubtnut.com/l/_yQpDwSxWEwDo


15. Why are halogens coloured ?

Watch Video Solution

16.  is known but  is not known.

Explain.

Watch Video Solution

SF6 SCl6

17. 2.1 g of non-electrolyte solute (molar mass

250 g/mol) was dissolved in 5.12 g of benzene.

https://dl.doubtnut.com/l/_yQpDwSxWEwDo
https://dl.doubtnut.com/l/_SfK8hAz7Ww9k
https://dl.doubtnut.com/l/_SnpSKoOcTe88
https://dl.doubtnut.com/l/_7Mj9V3FRCtri


If the freezing point of depression constant,

 of benzene is 5.12 K kg/mol, Calculate the

freezing point of solution if freezing point of

pure benzene is 5.5^0 C.

Watch Video Solution

kf

18. Dissolving 120g of urea (mol.wt 60) in

1000g of water gave a solution of density

1.15g/ml. The molarity of solution is:

Watch Video Solution

https://dl.doubtnut.com/l/_7Mj9V3FRCtri
https://dl.doubtnut.com/l/_5FtwymoBAnTM
https://dl.doubtnut.com/l/_oylBdOPBlLnE


19. Explain 

ligand

Watch Video Solution

20. Explain 

bridging ligand.

Watch Video Solution

https://dl.doubtnut.com/l/_oylBdOPBlLnE
https://dl.doubtnut.com/l/_7bZzJuPp4AW1


21. Explain the geometry of  on

basis of VBT.

Watch Video Solution

[Ni(CO)4]

22. Write the difference between molecularity

and order of reaction?

Watch Video Solution

https://dl.doubtnut.com/l/_8AFSY5LHdaEL
https://dl.doubtnut.com/l/_YUQXm32Hk5rz


23. Among noble gases Xenon forms maximum

number of compounds, why ?

Watch Video Solution

24. Explain the variation in molar conductivity

of weak electrolyte with concentration.

Watch Video Solution

https://dl.doubtnut.com/l/_BXkWyEH0qqEN
https://dl.doubtnut.com/l/_S79xG2wwH12A


25.  is coloured while 

 is colourless. Explain.

Watch Video Solution

[Ti(H2O)6]
3 +

[Sc(H2O)6]
3 +

26. If  is 0.693 sec. for a first order reaction.

Calculate reaction rate constant.

Watch Video Solution

t1 / 2

27. Prove that  for  order reaction.t75 = 2t50 1st

https://dl.doubtnut.com/l/_xgOobmp0zPTL
https://dl.doubtnut.com/l/_HGT4G8eGcBGk
https://dl.doubtnut.com/l/_AGpiz2HJF9gm


Watch Video Solution

28. Why are  compounds more stable

than  compounds towards oxidation to

their +3 state ?

Watch Video Solution

Mn2 +

Fe2 +

29. Write differences between ideal and non-

ideal solutions.

Watch Video Solution

https://dl.doubtnut.com/l/_AGpiz2HJF9gm
https://dl.doubtnut.com/l/_bjnpxnpQ6bNs
https://dl.doubtnut.com/l/_ExLZEt7ss244


30. Write down the units of  ?

Watch Video Solution

Kb

31. Difference between osmosis and diffusion.

Watch Video Solution

32. Mixture of acetone and chloroform shows

negative deviation from Raoult's law. Why?

https://dl.doubtnut.com/l/_ExLZEt7ss244
https://dl.doubtnut.com/l/_vkSvZY3lsD9t
https://dl.doubtnut.com/l/_zqcDBCywOvip
https://dl.doubtnut.com/l/_D8yST1D9bBIj


Watch Video Solution

33. How does  react with 


Watch Video Solution

SO2

Cl2

34. How does  react with 


Watch Video Solution

SO2

K2Cr2O7

https://dl.doubtnut.com/l/_D8yST1D9bBIj
https://dl.doubtnut.com/l/_aZW9tiXlIXFY
https://dl.doubtnut.com/l/_JfLX0Itl9qhs
https://dl.doubtnut.com/l/_L34G5MdAH1PG


35. Draw the structures of 

Watch Video Solution

XeO4

36. Draw the structure of 

Watch Video Solution

XeOF2

37. Bleaching action of  is permanent while

that of  is temporary. Why?

Watch Video Solution

Cl2

SO2

https://dl.doubtnut.com/l/_L34G5MdAH1PG
https://dl.doubtnut.com/l/_Nhf7y0mFtsb6
https://dl.doubtnut.com/l/_KdBx7Gyr3hvn


Section C Long Answer Questions

1. Why alcohols are weaker acids than water ?

Watch Video Solution

2. Explain Dow 's process .

Watch Video Solution

https://dl.doubtnut.com/l/_DYypDNmWITyG
https://dl.doubtnut.com/l/_UdBGzMJmNr49


3. Explain the following reactions: 

Diazotisation reaction.

Watch Video Solution

4. Explain the following reactions : 

Kolbe's reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_CZsFBY1WI7Bv
https://dl.doubtnut.com/l/_H1Ecxiyyr1ZC


5. The reaction 

forms  at the rate of 0.0072 mol 

after a certain time. 

What is the rate of change of  at this

time?

Watch Video Solution

2NO2O5 → 4NO2 + O2

NO2 L− 1s− 1

[O2]

6. The reaction  forms 

 at the rate of 0.0072 mol  after a

certain time. 

2N2O5 → 4NO2 + O2

NO2 L− 1s− 1

https://dl.doubtnut.com/l/_k3EbMlmjNons
https://dl.doubtnut.com/l/_MTwPjJ4Qzb3J


What is the rate of change of  at this

time ?

Watch Video Solution

[N2O5]

7. Balance the equations Fe + O2→ Fe2O3

Watch Video Solution

8. A first order reaction is 20 % complete in 10

minutes. Calculate 

Specific rate constant of the reaction

https://dl.doubtnut.com/l/_MTwPjJ4Qzb3J
https://dl.doubtnut.com/l/_vTqnqLqz4QHg
https://dl.doubtnut.com/l/_S7Y6fd8hUd8h


Watch Video Solution

9. A first order reaction is 20% complete in the

10 minutes. Calculate the time period for 75%

completion of the reaction.

Watch Video Solution

10. Write The Nernst equation and calculate

the e.m.f. of the following cell at 298K. 

https://dl.doubtnut.com/l/_S7Y6fd8hUd8h
https://dl.doubtnut.com/l/_m1PTmhYqnTHs
https://dl.doubtnut.com/l/_tNn8yyZnzVqw


 


Given 

Watch Video Solution

Fe ( s )
∣
∣Fe

2 +
( 0.001M )

∣
∣
∣
∣H

+
( 1M )

∣
∣H2 ( 1atm) .Pt

E ∘
Fe2 + /Fe

= − 0.44V

11. Why is dioxygen gas but sulphur a solid?

Watch Video Solution

12. Write NERNST equation also Calculate the

cell e.m.f. and  for the cell reaction at

 


ΔG

25∘C

https://dl.doubtnut.com/l/_tNn8yyZnzVqw
https://dl.doubtnut.com/l/_eWMhvd7v8tFc
https://dl.doubtnut.com/l/_xXVHrQF0hC7t


 


Given 

Watch Video Solution

Cr(s) /Cr3 + (0.1M)//Fe2 + (0.01M) /Fe(s)

E0
Cr3 + /Cr

= − 0.75V , E0
Fe2 + /Fe

= − 0.45V

13. The resistance of 0.05 M NaOH solution in a

cell having length 5 cm area of cross section

10 cm2 is  ohm. Calculate its molar

conductance.

Watch Video Solution

5.55 × 103

https://dl.doubtnut.com/l/_xXVHrQF0hC7t
https://dl.doubtnut.com/l/_FbwqaD9RUNrB
https://dl.doubtnut.com/l/_nFXInk5crmRF


14. How will you convert phenol into

phenolphthalein, picric acid and salol.

Watch Video Solution

15. Write the following reactions 

Distinguish test for  alcohols

Watch Video Solution

1∘ , 2∘ , 3∘

https://dl.doubtnut.com/l/_nFXInk5crmRF
https://dl.doubtnut.com/l/_QX5aCo4888yB


16. Write the following reactions 

Convert cholorobenzene into phenol

Watch Video Solution

17. The rate constant for a first order reaction

in . How much time will it take to reduce

the concentration of the reactant to  of

its initial value ?

Watch Video Solution

60S − 1

1

20th

https://dl.doubtnut.com/l/_JlfEMhy60vPe
https://dl.doubtnut.com/l/_M95qBmkIULeA
https://dl.doubtnut.com/l/_XKx0oPnwyjai


18. A first order reaction is 20% complete in

the 10 minutes. Calculate the time period for

75% completion of the reaction.

Watch Video Solution

19. Why the acid strengths of acids increase in

the order : 

 ?

Watch Video Solution

HClO < HClO2 < HClO3 < HClO4

https://dl.doubtnut.com/l/_XKx0oPnwyjai
https://dl.doubtnut.com/l/_ZL6WwOuTxKgG


Section D Long Answer Questions Type Ii

1. Explain the following reactions: 

Balz Schiemann reaction.

Watch Video Solution

2. Explain the following reaction reaction : 

Sandmeyer's reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_M4vqTwpt8Hvr
https://dl.doubtnut.com/l/_ELEXCvY5ydBX
https://dl.doubtnut.com/l/_BubVRIkp8ai1


3. Write the following reactions : 

Groves process.

Watch Video Solution

4. Explain the following reaction : 

Gattermann reaction.

Watch Video Solution

5. Explain the following reactions : 

Ulmann reaction

https://dl.doubtnut.com/l/_BubVRIkp8ai1
https://dl.doubtnut.com/l/_gbIBKA7Llnzm
https://dl.doubtnut.com/l/_jzdVLww0L4WW


Watch Video Solution

6. Balance the equations CaCO3 + HCl → CaCl2

+ H2O + CO2

Watch Video Solution

7. What are ambident uncleophiles ? Explain

with an example.

Watch Video Solution

https://dl.doubtnut.com/l/_jzdVLww0L4WW
https://dl.doubtnut.com/l/_DL3QHcA90xsP
https://dl.doubtnut.com/l/_zNi9tkyHhPza
https://dl.doubtnut.com/l/_YTLo4fgRNp0i


8. Write complete balanced equation for the

following reaction : calcium + water
→ calcium

hydroxide + hydrogen

Watch Video Solution

9. Transition metals form alloys with other

transition metals. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_YTLo4fgRNp0i
https://dl.doubtnut.com/l/_wPqTrank8Bed


10.  is coloured while 

 is colourless. Explain.

Watch Video Solution

[Ti(H2O)6]
3 +

[Sc(H2O)6]
3 +

11. Why is  more basic than 

 ?

Watch Video Solution

La(OH)3

Lu(OH)3

https://dl.doubtnut.com/l/_4cQcxiIim7Wz
https://dl.doubtnut.com/l/_BQ6mFjnumEmN


12. Give the following reactions: 

Fitting reaction

Watch Video Solution

13. Write Wurtz reaction.

Watch Video Solution

14. Explain the following reactions : 

Ulmann reaction

https://dl.doubtnut.com/l/_CjxBGCRMthT6
https://dl.doubtnut.com/l/_6fJ3NVICjmtj
https://dl.doubtnut.com/l/_9RDBan90vCTw


Watch Video Solution

15. Write the following reactions : 

Swarts reaction

Watch Video Solution

16. Explain: 

 mechanism by taking example.

Watch Video Solution

SN 2

https://dl.doubtnut.com/l/_9RDBan90vCTw
https://dl.doubtnut.com/l/_RRFbEsbAckPW
https://dl.doubtnut.com/l/_d5UozDs8hVSU
https://dl.doubtnut.com/l/_CGeMxnwmov5w


17. How will you convert : 

Chlorobenzene to 1,2 dichlorobenzene

Watch Video Solution

18. How will you convert: 

But-1-ene to But-2-ene

Watch Video Solution

https://dl.doubtnut.com/l/_CGeMxnwmov5w
https://dl.doubtnut.com/l/_ghMpTa275Z1b


19. How will you convert: 

Chlorobenzene to Benzoic acid

Watch Video Solution

20. How will you convert : 

Acetic acid into ethane

Watch Video Solution

https://dl.doubtnut.com/l/_jODtUjTv2Mrh
https://dl.doubtnut.com/l/_1gLGvmAdZ3vg


21. How will you convert : 

methane into choloroform

Watch Video Solution

22. Why transition metals show catalytic

properties?

Watch Video Solution

https://dl.doubtnut.com/l/_AaFfDsdxw0N6
https://dl.doubtnut.com/l/_BdflIrqHWItE


23. Transition metals form number of

interstitial compounds. Explain.

Watch Video Solution

24. Write any two consequences of

lanthanoids contraction.

Watch Video Solution

https://dl.doubtnut.com/l/_Yw3CC9GCNsfT
https://dl.doubtnut.com/l/_5eedqlY4zd85


25. Most of transition metals show variable

oxidation states. Explain

Watch Video Solution

26. Briefly explain, why are electronic

configuration of lanthanides not known with

certainty ?

Watch Video Solution

https://dl.doubtnut.com/l/_buj5VtAQnOhx
https://dl.doubtnut.com/l/_Zl4IacScD7Wg

